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INSTRUCTIONS
Answer all questions,
All questions carry equal marks.
Only one answer is to be given for cach question.
If more than one answers are marked, it would be
treated as wrong answer.
Each question has four alicrnative responses marked
serally as 1, 2, 3, 4. You have to darken only one
circle er bubble indicating the correct answer on
the Answer Sheet using BLUE BALL POINT PEN.
1/3 part of the mark(s) of each question will be
deducted for cach wrong answer. (A wrong answer
means an incorrect answer or more than one answers
[or any guestion. Leaving all the rclevant circles or
bubbles of any question blank will not be considered
a8 Wrong answer.}
The candidate should ensure that Series Code of the
Queslion Paper Booklet and Answer Sheet must be
same after opening the envelopes. [n case they are
diffcrent, a candidate must obtain another question
paper of the same series. Candidate himself shali be
responsible for ensuring this.
Mobile Plione or any other clectronic gadget in the
examination hall is strictly prohibited. A candidate
found with any of such objectionable material with
himer will be strictly dealt as per rules.
Please cirrectly $ill your Roll Number in O.M.R.
Shect, 5 marks will be deducted for filling wrong or
incomplete Roll Number.

. If there is any sort of ambiguity/mistake either of

printing or factual nature then out of Hindi and

English Version of the question, the English Version

will be treated as standard.

Warning ; If a candidate is found copying or if any
unavthorised material is fonnd in his'her
possession, FL.R. would be lodged against
kim/her in the Police Station and hefshe
would lizble to be prosecated under
Section 3 of the R.P.E. (Prevention of
Unfairmeans) Act, 1992, Commission may
also debar hinvher permanently from all
future examinations of the Commission.
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TSR RS £ ST

O Solar ‘Ernergy s [
(3) Nuclear Free  World ' (4) Sustainable Agriculturé:

e % vuEE e @ § ey aiedT | T T T
o arew B ¥ 1T A ¥ e sl Paw P ¥ Pt

- Theh_ll?':r_"ijmf‘:; Minister of, Indid recently launched a National Action 3.‘_Pian on
- Climate ‘change. The plan contain eight National Missions which: one of
- the following ~has ‘not been included among them ? National Miséﬂ;ion on

@) Conéérvihg Water

Ay dm o Wy rwdm B -
(1) ¥ s 9 (2) W @ W l
(3) e yam favg W (@) I FE W )

L
"

Chairman of 4 State Finance Commission of Rajasthan is

(1) Chandra Shekhar Baid (2) B. D. Kalla

(3) Pradyuman Singh (4) Rajpal Singh Shekhawat
e % G o fad oA % etend ¥ -

(1) meEy ¥ (2) 1. 2w

3 wg= RiE | @ euw fE e
Match the country with its Woman Head of Government

(1) Liberia (W) Cristina Fernandez

(i) Argentina (30 Dilma Rouseff

() Thailand (Y) Ellen Johnson-Sirleaf
(1V) Brazil (Z) Yingluck Shinwatra

(1) @-(Y) / AD)-(X) / A-(W) / AIV)-(Z)
@ O-Y) / AD-(W) / A-(Z) / AVIHX)
3)  (D-(X) / (AD-(W) / AID-(Z) / AV)-(Y)
@) (D@ / (-X) / AD-W) / AV)-(Y)
3q ol SEEl Wieen wETerd @ gave ey -

M) wEafEn (W) feedmn wafes
@) e X) T ww

() oS (Y) U Ae-gien
(IV) o (z) Pigs e

1) (DY) / qD-X) / ({ID-(W) / AV)-(Z)
@  (O-Y) 7 (D-(W) / UD-(Z) / AV}HX)
3) (- / AD-(W) / (HD-(Z) 7 (AV)(Y)
@) O-Z) / AD-(X) / AD-(W) / AV)-(Y)

Who is the Chairperson of the National Commission for Women ?
(1) Mamta Sharma - (2) QGirija Vyas

(3) Yasmeen Abrar (4) Poomima Advani
TSR wiken SN B ooy WA ¥ 7

(1) wHar el (2) tifen =
(3) uEA EW (4) uPfm omsawd
278 A] -2 ) [Contd...
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% Besides 19 countries which group of countnes is also a member ot G- 20 ‘?

(1) ASEAN | - (2)° APEC

(3) NAFTA . (4 EU
19 W % e, G&zoﬁéaﬁaﬁrﬁqmwﬁrﬁw% ?
(1) R @ s

Gy Awa BN -

6 Name of Rover Spacecraft launchied by NASA on 26% November 2011,
to planet Mars is

~ {1) Phoenix _ : - {2) Rosetta o
3. Cunosﬂ:y ' ' A{4) . Odyssey :
26 Fqd=EY, 2011 aﬁwmwm%%&:u@r&mwm
W OAM ¥ -
(1) i @) W&
() wgfad 4) o=

7  How many total services of 15 departments have been included in the
Rajasthan Guaranteed Delivery of Public Services Act, 2011 ?
(1) 108 ) 112
(3) 115 (4) 118
TR Wi YAl F Ya B TR aftfied, 2011 & siwfa 15 fawr
& o feat Fad e w1 o ¥ ?

(1) 108 @) 12
(3) 115 - (4 18
8  Mullaperiyar Dam is situated in the state
(1) Goa (2) Kerala
(3) Tamil Nadu (4) Andhra Pradesh
TentaR Sy ... T W Rad ¥ -
(1) Tar () F@
(3) g : (4) eI ey
9 Single point grievance redressal portal of Rajasthan Government
18
(1) E Mitra (2) Rajport
(3) Rajcomp @) SUGAM
[T |Eh T bl TyepEa famer 9w ¥ -
1 § fir (@) T
(3) TTHA @ g™

10 What has been the venue of the United Nations Framework Convention
on climate change held in November-December, 2011 ?

(1) Cancun (2) Durban
(3) Kyoto 4) Copenhagen
Jgex-fagsy, 2011 # mmﬁwww*mw
Tl WH U —
(1) @A _ (@) sEA
(3) T (4) ST |
278_Al 3 [Contd...
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11 Author of famous 'Hindi'.no_vel 'Raag .D_a'rbar'i_' s _ - !
- (1) Gyan Chaturvedi - "~ (2) - Amarkant '
(3)  Srilal - Shukla .~ (4) ‘Sharad Joshi
() o aged (2) e D
@) Aaw ga @ s ]
12 The Director General of "World .Tr_ade Organization' is - -~
(1) Pascal Lamy s (2) Robert Zoelick -
(3) Christine Lagarde -(4) ‘Harmuhiko Kuroda
‘f9g UR e F HEHRIE ¥ -
(1) UThe WO (2) e fww
() TN wmE (4) zotEH!
13 The north-south extension of India is
(1) 2,933 km (2) 3,214 km
(3)" 3,545 km \ (4) 2,650 km \
SR B SR TR §
(1) 2,933 A (2) 3,214 f&n
(3) 3,545 TpAL (4) 2,650 Rp.A.
14 The height of Dhaulagiri peak of Himalaya is
(1) 8481 m (2) 8153 m
(3) 8078 m (4) 8172 m
R % e R @ oud ¥
(1) 8481 M (2) 8153 WX
(3) 8078 WX 4) 8172 Hiex
15 'Sundar Van' are also known as :
(1) Tidal Forest (2) Monsoon Forest
(3) Arid Forest (4) Deciduous Forest
(1) ==E =7 (2) g ad
(3 g= = (4) uofult o=
16 Which of these is the leading sugar producing state in India ?
(1) Bihar (2) Uttar Pradesh
(3) Maharashtra (4) Tamil Nadu
TH ¥ HE-T1 U9 ARG HoAeN 9T semEs ¥ ?
(1) fer 2) T Ry
(3) weRrE (4) g
278 A] 4 [Contd...
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17 Which of the foiiowing group of states is having Laterite soil 7
(1) Orissa, Madhya Pradesh, Rajasthan and Gujarat
(2) Kerala, Karnataka, Andhra Pradesh and Orissa.
(3) Giyarat, Maharashtra, Madhya Pradesh and Tamil Nadu
(4) Karnataka, Gujarat, Jharkhand and Rajasthan
Frefafla & @ o9 vl & wE weUge gur @A ¥ 7
(1) 3@, 999 ¥y, TodH ok eid '
(2) W, weH, oMY WA o wEr
(3) IO,  HERTE, e TR SlX AT
(4) Weieh, e, HREvE  §R e
18 Which one of these is not a centre of Iron and Steel Industry in India?
(1) Bhilai (2) Mangalore
(3) Bhadravati (4) Asansol
T ¥ HA-T TH ARG F WE-3WE IAN B Fw @ O ?
(1) e 2) HWR ‘
(3) Wl (4) omETE
19 The nucleus of the Hugli Industrial Region is
(1) Kolkata-Harora (2) Kolkata-Medinipur
(3) Kolkata-Risahara (4) Kolkata-Konnagar
g ofeifie Wiy &1 PR ww
(1) wewa - W@ (2) i -~ FEHYY
(3) wwwar - Rwew (4) WG — FHFTR
20 In which year 'Project Tiger' was started in India ?
(1) 1975 () 1983
(3) 1973 (4) 1978
aRa W ‘g wfEeEr @ ourew e ad A R own o ?
(1) 1975 - (2) 1983
3) 1973 (4 1978
21  The southern part of western coastal plain of India is known as
(1) Konkan (2) Koromandal Coast
(3) Goa Coast (4) Malabar Coast
IRA @ qve qdm dem e ol wm s e ¥
(1) DA (2) WA= q@
(3) TN &< (4) AENR @
22  Which of these is one of the controlling factor of the Indian Monsoon?
(1) Cycloues (2) Jet Stream
(3) Ocean Currents {(4) Warm front
T W DO U O ARAR Wgd @ e ¥ 7
(1) =wam ) s €W
(3) wHRE® aRd (4) T JEm

278 A] 5 [Contd...

i |II“’)N

Jlhoronow. ﬂifwfmrsnmw com/previeus-year-qlestion-papers/  ~%



Which of these is not a oil refinary centre ?

23 :
{1) Kandla _ (2) Mathura
(3) Haldia N (4) Digboi
% ¥ BT F WES AR WEE B T % ?
() wwsam j -2y mgY
3) wRem - (4 g
24 In which state Gir National Park is located ?
. (1) Mabharashtra (2) Madhya Pradesh
(3) Gujarat B (4) Karnataka
PR Tl e Rew ow A Rem ¥ 7 -
(1) g - | (2) =T Wey
() TERE | (4) wetes
25 Among these which peak of Aravalli is the highest ?
(1) Achalgarh (2) Jarga
(3) Raghunathgarh (4) Taragrah
T ¥ wEd @ we-w frey wEe (@ww ) ¥ 7
(1) oEerTe (2) wTm
(3) ETRME _ (4) dRFEe
26 The geographical region located in South-Eastern Rajasthan is known as
(1) Bangar Region (2) Mahi Basin
(3) Banas Basin - (4) Hadoti Plateau
gt terae ¥ Rem dhifves wker ST ST ®
(1) e Wy (2 = W=
(3) g I (4) wTEE W UK
27 The total forest area in Rajasthan is
(1) 32,488 sq. km (2) 32,701 sq. km
(3) 30,640 sq. km (4) 36,225 sq. km
TSR ¥ GE 9 &F ©
(1) 32,488 Tt Rl (2) 32,701 = faan
(3) 30,640 @t Rpaf. 4) 36,225 =f ReL
28 Which of these is an important Gypsum producing area of Rajasthan ?
(1) Bikaner-Ganganagar-Hanumangarh area
(2) Jodhpur-Bikaner-Barmer area
(3) Churu-Jhunjhunu-Sikar area
(4) Jaisaimer-Barmer-Jodhpur area
T ¥ BT (R H TE T SaEs 8 % ?
(1) 9AFEX — TR — TEER &
(2) sug - dHMT -~ TEET
Q) I - FFL - e &
(@) T — TR — WYY A
278 A] ' 6 [Contd...
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29 Which of these is a Tungsten producing area of Rajasthan'?
. (I} Rajmahal : (2)  Gogunda
(3) Degana - (4) Jawar
T A BT W IORET B AR A N I
(1) oS g - @) T
(3) o @) wER
'Kevladev National Park is ..Iocated at . :
(1)  Sawai Mahodopur | (2) Bharatpur
(3) Alwar SR ~ (4)  Jaisalmer
(1) @ MegR (2) w@ER
(3) o . (4) SEEAT
31 In which district Phoolwadi-ki-Nal Sanctuary is located ?
(1) Dungairpur (2} Chittorgarh
(3) Pratapgarh : (4) Udaipur
FENE W A orvanod fpw R F fReg o7
() EMY 2) freTs
() TR (4) S=\E
32 Which of these is a dominant type of soil in south-eastern Rajasthan ?
(1) Red Soil (2) Brown Sandy soil
(3) Medium Black soil (4) Red and Yellow soil
el o F o A - yw @ e &7
() @ g @) T Wl o
() A HEl g (4) ™ wg gl Bl
33 Which of these project is supported by Japan International Cooperation
Agency?
(1) Desertification
(2) Rajasthan Forestry and Bio-diversity Project
(3) Development of National Parks
(4) Harit Rajasthan
sﬁﬁaﬁq&ﬁwﬁ@wwwﬁmﬁraﬁammﬁﬁhﬁ%mﬂﬁ
TR S W Y 7
(1) wEeERrEs
(2) TS Gl T wafafayar wiasE
(3) I&E wEEt @ R
(4) s@ TeRaw
278 A] 7 - [Contd...
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35

.....

Tn ‘which district. Sarlska Tigar Project is located - 7

(- . Alwar . _ ) . (2) - Dholpur
(3) Sawai Madhopur : (4) Kota
- few R # vaﬁ&m g afeern Raa & 7
() wET R ) E?FﬁEH
" @) W e @) _asazf_r o
_Which of these is a bleed of sheep found in Rajasthan _'? _
1y Nagori - - C (2) Rathi
(3) Chokla. = ' (@) Murrah
wmﬁsﬁﬁ@raﬁﬁ—#rwwgaﬁwméaﬁﬁ% ?
(1) =rrd (2) TS
(3) e @ 7
36 In which precious stone production, Rajasthan is having monopoly in India ?
(1) Garnet : (2) Emerald
(3) Diamod ' (4) All the above
w&rﬁfwﬁ%ﬁwq‘m%wﬁ@ﬁhﬂwm% ?
(1) M=t 2) v
@3) & @) Sugdw adft #
37 The rank of Rajasthan in Gram (Chana) production in India is
(1) First {2) Second
(3) Third (4) Fourth
T IOET N (ORAE W ARG N WH ¥
(1) WA ) fadm
@) @) =g
38 In which district of Rajasthan American Cotton is produced ?
(1) Kota (2) Chittorgarh
(3) Udaipur (4) Ganganagar
e ¥ few B 8 emifiew wum @1 SORA g 7
(1) @ (2) FrisTe
(3) w=EUYX (4) T
39 In Rajasthan, the first Sugar Mill was started at
(1) Sriganganagar (2) Udaipur
(3) Bhopal Sagar (4) Keshoraipatan
T F wem O | wrew wt ot S
(1) FFTTR . (2) &R
(@) wHEErR (4) HMEA
278 Al ' 8 [Contd...
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40 Which of these is not a Centre of Cotton textile industry ?

{1) Tonk ' - . {2y Bhilwara
3 Kishaiﬁgarh ' B oA ._Beﬁwar '
T & wm-a gl aw wE o e oWl ¥ 7
RO S o iwer
Gy Bemw @) wwr

41 In which district Bisalpur irrigation project is located 7

(1) Jaipur _ (2} Tonk
(3) Ajmer (4) Bhilwara
Srewgy Ryer e B RR A Rew ¥ 7

(1) sy ) o®
(G) ewmx (4) et

42  The largest irrigation project of Rajasthan is
{1) Chambal Project (2) Mahi Project
(3) Indira Gandhi Nahar Project (4) Bisalpur Project

TR Bl gaY gEq N uiEeE §
(1) e aiEio 2) = wfEE
(3) sheq W wwy ufEsEn 4) Rawgr o

43 In Rajasthan, Hindustan Machine Tool factory is located at

(1) Jaipur {2) Kota

(3) Udaipur 4) Ajmer
e fgae ueie o el R ®

(1) =g @) @ ¥
(3) TI@GY H (4) o ¥

44 Among the following select the Correct pair

(1) Doria Sari - Sanganer (2) Namada - Tonk

(3) Ajrakh Print - Bagru (4) Wood Toys - Kota

Frefrfea & ¥ w8 ste ghE - |

(1) sifen 9t - | (2) &l — ok

(3) @ e - T (@) S F e - B
278 A] 9 [Contd...
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45
) Chabbra : . {2) Palana
(3). Anta = (4) Suratgarh .
"-mwﬂﬁﬂaanarﬁaﬁgﬁuﬁ?ﬂamwﬁuﬁ% ?
(U Q) T o -
® T @) g
46 In which year Drougbt Prone Area Programme (DPAP) was started mo
: Rajabthan ? .
(1) 1974-75 2) 1978-79
(3) 1982-83 ' (4) 1985-86
e H gEn gWer (ﬁ:@?trmﬁ?f) &5 wmy fow ad ¥ wros R
RIE2 |
(1) 1974-75 ' (2) 1978-79
(3) 198283 | (4) 1985-86
47  According to 2011 Census, the Sex Ratio of Rajasthan is
() 921 (2) 926
(3) 919 (4) 935
2011 W TOOFT & FFAR [RAE A fHmgew ¥
(1) 921 (2) 926
(G) 919 (4) 935
48 Which of these is a district in Rajasthan having maximum density of -
population in 2011 ?
(1) Bbharatpur (2) Alwar
(3) Dausa (4) Jaipur
T WO 9 eE-al e 2011 ¥ waifye S99en a9 @t
¥
(1)  #ag (2) ewEy
@) (4) @
49 The date of the adoption of Panchayati Raj System in Rajasthan is
(1) 26" January, 1957 (2) 241 April, 1993
(3) 274 October, 1959 @) 151 August, 1958
T H U W gei @ o @y fafr ¥
(1) 26 W=ad, 1957 (2) 24 ¥, 1993
(B) 2 WERE, 1959 (49) 15 &Tw, 1958
278_A] 10 [Contd...
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51

Which of the following places is an ndus Valley site found in Rajasthan?

50
(1) Balatha! _ (2)  Ganeshwar
(3)- Gilund ~ {4) Kalibangan _ _ -
Fretiftrer & & o ¥ frg e ¥ AR @I sy gw ¥ 7
From which of tﬁe’f&loWing districts remains of the Ahar _cui_ture..on the
banks of Banas river have been found 9
(1)  Chittor E (2) Banswara
-~ (3) Udaipur ¢ Rajsarﬁand
ﬁﬂ%@aﬁﬁﬁﬁm%ﬁﬁmm%mﬁq%% ?
(1) frie (2) atgenET
3) IR (4) TS ‘
52 Which Rathod ruler of Marwar did not submit to the Mughal power ?
(1) Rao Ganga (2) Maldeo
(3) Jaswant Singh (4) Rao Chandrasen
ﬁwﬁrﬁgaffmm%ﬁmmsm%g’ﬁa%mﬂﬂmmﬂﬁ
W7
(1) @ 2) wRe
(3) wwdm Rz ) @ T=Ew
53  Which of the following is not true of the Chauhans of Shakambhari ?
(1} In the beginning they were the feudatories of the Pratiharas.
(2)  Guvuk is supposed to be the first independent Chauhans ruler.
(3} Ajaysingh was the founder of the city of Ajmer.
(4)  Prithiviraj TII was one of their greatest rulers.
Wﬁﬁﬁ—mmmm&mﬁ%ﬁwﬁ%ﬁr&qﬁm% ?
(1) ooy § 3 ol & wmea &
() IF S g AN SEEG AT W@ ¥ |
(3) SRR TR w1 demE eniis ey |
#) TERW G 39 AN F merew wweE ¥ @ @ oar |
278 Al 11 [Contd...
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54

Which of the following statement is not irue about Maharana Kumbha 7
(1) He built’ the fort of Kumbhalgarh -
(2) He was a connolsseur of music.
(3) He was one the greatest rulers of Mewar.
(4) He himself was not a tearned man but patromzed the learned
Wgﬁﬂnﬂsﬁr@ﬁﬁwﬁmﬁ@rﬁﬂmmmm
) RN g # e S o
@ ¥ e a1 |
() o Y ¥ UEW @R F ¥ TH q |
(4) ¥ = PEm oA 9, R Rer % ensmERn 8 |
55 The first treaty between the Bikaner state and the Mughals was signed
by the Ruler
(1) Rao Bika _ (2) Kalyanmal
(3) Ram Singh (4) Anup Singh
HET T qw T B A god wfH O TR HE AW anEd o
(1) <@ e (2) T
@) W™ Rig @) o fe
56 Match the following states and their rulers.
List 1 List II
(a) Bundi (i) Dev Singh
(b) Jodhpur (1) Maldeo
(c) Jaipur (iii) Ishwari Singh
(d) Ranthambor (iv) Govindraj
(a) (b) (c) (d)
1y O iy @y @v)
2 () (iv) (D) (ii1)
3 o (i) (iv) ()
4 v) (i) (i) &)
Prerifes Todt @ oTh wrR B Gl @ gt Bk
T 1 T I
@ = @) i
(b) wEyR (i) wwRa
(c) =g (iii) sy fiw
(d) =R (iv) =y
(a) (b) (©) (@
O ) @) ()
2 () vy (@ (iii)
G O @ - (@) @
4 @) @) (i) M
278 A] : 12 : [Contd...
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57 . Match the following battles and the years in which they were fought.

List 1 o _Lrst 1! _
{a) Baitle of Khanua = . () 1761 AD
(o) Batle of Haldighati ~ (i) 1576 AD

(c) . Second Battle of Tarain (i) 1192 AD
(d) Third battle of Panipat  (iv) 1527 AD
(a) by (© (d} |
B TN B I 1 B
@ @) iy () (1)
3 ® (i () (i)
4y () (ii1) (it) (i)
Prerifeq g@t @ of% weT-AW @ gRE W

LB T I
(a) @I & g i) 1761 %.
(b) FTRER B g (ity 1576 %.

() W W fadwm g= (i) 1192 %.
(d) TFiga @ AU W= (v) 1527 3.
(2) (b) () (d)
1 ® Gy @) ()
2) () (i) (i) @
G O ) (W) (i)
4 @Gv) @) (D) (i)
58 Assertion {A) : The States of Rajasthan signed the subordinate treaties
with the British.
Reason (R) : They required protection of the Imperial power,
(1) Both (A) and (R) are true,
(2) (R) is true and (A) is false.

(3) (A) and (R) both are true, and (R} is not the correct explanation
of (A).

(4) (A) and (R) are true, and (R) explains (A) to a large extent.
T (A) : TOUE ¥ T T o & ouv oty |fmt @ o
T (R) : ﬁ%wmﬁaﬁ%mmﬁmameﬂ|

(1) AT (R) 3 T8 ¥ |

@ @® w& ¥, X (A) wa ¥ |

() (a) ok R) I ¥ ¥, fog (R), (A)a?raﬁmmwaé’rm:
4) (A) &k R) T T T, R), (A) © S =rew HET T |

278_A] 13 [Contd...
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59  Which institution did Vuay Smgh Pathik. establlsh to educate peasants about
' their rights ? ' .
(1) Sabhya. Sabha : (2) Ra]astlnn Seva Sangh
(3) Marwar Hitkarini Sabha _ (4) Seva Samiti - S -
mﬁaﬂ%ﬁaﬁ%ﬁ?r&muﬁiwmﬁaa%ﬁﬁmmmﬁ%ﬂ
den W@ e w & v
(1) " | - -(z)'mw-ém@"
3 AR [ESEARR) Hm @ W Eﬁfﬁf N
60 Which of the following states was the ﬁrst to enact law against
kitling of the girl-child ?
(1) Bikaner (2) Jaipur
(3) Jodhpur (4) Kota
Wﬁ%w&%ﬁwwmwwmm:
(1) dHEY 2) AR
(3) shege 4) e
61 Which of the following was the chief objective of the Prajamandal
Movement ?
(1) To overthrow the rulers.
(2) To end the British Raj.
(3) To fight for people's rights.
(4) To fight for the abolition of social evils.
Frifies ¥ @ yoEsEl @1 goT SR ol
(1) TGl & G S Bl
@) fafesr wst =1 e
(3) - & el & fod dudi
(4) wrise gakaal e
62  In which year, with the merger of Ajmer-Merwara, the process of formation
of the State of Rajasthan was completed ?
(1) 1956 (2) 1955
(3) 1954 (@) 1953
WW%W%W&WW%@W&%WW
ad gt g2 ?
(1) 1956 | @) 1955
() 1954 (4) 1953
278 Al ' 14 [Contd...
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63 Match the following folk art forms with their regions

List I - © List [
(3 Rammat : (i) Mewar
(b) Tamasha - o (i) Jaipur - _
(¢) Bhawai @ _ (i) Region adja_t:eritl to Guja'rét -
(d) Gavari . ' (iv) Bikaner and Jaisahmer

@ () © @
(1). G _(iii)_ (iv) o

@ (v ) G o)

® O G @ ©

) (v) i) () G)

Pt onieAre @ o A & iR AR

LG g I
(a) A () s
(b) @R (i) wEgR
() wad (i) TR I Y g A
() wrardl (iv) SHMT T FEAAR

@ () (¢ @
(L @ () i) (Qv)
@) (v)y () (i) (i)
Gy O @ v @
4) (v} (i) () (@)

64 The Bishnois are the worshippers of

(1) Pipaji (2) Dhannaji
(3) Tejaji (4) Jambhoji -
Reié Prefefed % & Rredt o w@ ¥ 0
(1) duwht @ | (2) T B
(3) deow W (4) AT W
65 Where the "Urs" of Moinuddin Chisti is organized ?
(1) Tonk (2) Ajmer
(3) Nagaur (4) Agra
@ AggEn fasdt @1 39 wet o Ream s &0
(1) o= (2) oY
@¢) =R _ (4) &
278 A] 15 [Contd...
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-are worn ¢
. List1
. (a) Borala .~
(by Latkan
(¢) Janjir
- (d) Todia
1 @O @)
(2) () (i)
Gy @ @)
(4)y (i) ()
G
(a) ST
(b) @I
(c) IR
CYRIGHED
(@ b
(1) @ )
2) ) )
3 @ ()
& @Gi) (i)

67 Assertion (A) :

Reason (R) :

66 Match fhé following ornaments and the parts of the body on V.F'hich'they

List L

(i) Toot
(i) Head
(iii} Nose
_ () Waist
© @ A .
(i) (iv)
Gi) - (@)
(iv) (D)
(iv) ()
q 3§ s WM A oiT w gafte #Rd
T 1
M W
(iiy R
(iii) T
(iv) @
() @
(i) (iv)
(i) (i)
(iv) (i)
(iv) (i)

Painting styles of Rajasthan largely portrayed religious
subjects.

Society of Rajasthan was deeply religious.

(1) Both (A) and (R) are true.

(2) (R) is true

and (A) is false

(3) (A) and (R) both are true, and (R) explains (A) to a large extent.
(4) (A) and (R) both are true, and (R) is not the correct explanation

of {A).

= (A) : e Rt &t ey e afs $)

Fw (R) : oy & 99 eniiear & e q oflawd #)

(1) (AT R
2) (R) " %,

I T E |
AT -A THT F

() (A) X @) T & T, g R), (A) W SF AT HE T
(4) (A) T R) 3 T ¥, BY R), (A) B SF AN TE HE@l |

278 A]
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68 Y o of Yk Bb e
{1 $aki
A3 Caursheeioar iy : i
RINRUT W NGRS i o
(.} ; "5{:‘;:_-.‘?;:{'&{Fi"'.'
0 Tl ol Ly
RIS NI ‘| . '

LRSS The fannne 1'"-’-,-.:_‘-71}11&3 ol w%‘_‘-l}"-'-.~?-T".i';}{;:-"--]'-'?:'.I'i%f.‘:" = Ny
(13 Vaishnsv :emples {2y Shaw
(3 Buddhist temples 4} Jin t
A F o AR - Rmaoaed v qeaed 5 :
(1) ey iy {7y g iy
(3) drg Wi (4) W wfew

76 When was Jantar Mariar of Jaipur was declared the Weorld ifentage Sile
by UNESCO ?

(1) 2008 (Zy 2002

3y 2010 (4) 2001 |
SEYT & WA Har W OqRen AR e udet we we giftg fean oy ?
(1) 2008 C(2) 2009

(3) 2010 | (4) 2011

71 Albert Hall is the name of -
(1) An auditorium in Udaipur
{(Z) A Rangshala in Jaipur
(3) A Museum in Jaipur
(4) A Hall m Abu where the British celebrated Christraas
e Ee A %
(1) <&y & U,as YT &1
(2) VA @ UH CWIAT
(3) WYX & Uw dUEmY %
) g ¥ TH T w1 W oW fruvw wm &

72 Which of the following sects of Vaishnavism was least prevalent in
Rajasthan ?
(1) Chaitanya (2) Nimbark
(3) Hit Harivamsh (Radhavallabh}  (4) Vallabh
%maﬁ%ﬁwf&ﬁwawﬁﬁ@rwwﬁw@rmmﬁmaﬁ—

T g E?
(1) = 2) Traeh
(3) RaeRds () 4y aeaw
278 A] 17 [Contd..,
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.73 Where is the Gogaji ka Mela organized" ?
' (1) Halugarh near Falaudi

(2) Chandangaon in' Sawai Madhopur

(3) On the banks of Banganga near Bairath
(4 In a village in Nohar Tahsil of Ganganagar
AT R B el emditee feRar e B O '
(1) wEd % free wwpe e o

(2) WaE WHYT & wRwng H

G) e & e o F qE W

(@) TR @ e aedE ¥ uw v A

74  Which of the following is a étring instrument ?

(1) TRavanhathha (2) Algoja
(3) Satara _ (4) Jhanjh
frfafaa arl & & @9 9@ AR 9w §?
(1) raoTEen 2) Wﬁ\‘rﬁ
(3) waa | (4) w=

*75 Galta a pilgrimage centre in Jaipur has a temple devoted to
(1) Sri Rama (2 Shri Krishna
(3) Agni (4) Surya
e @ v Rem AR Rew dmar & wwida ¥7
1 f W ) & Fw
@) o @ ¥

76 One of the following is called as “heavy water”

' (1) H,0O (2) T,0
(3) D,O _ 4) H;0
frefoflga & ¥ s w9l SW' wed &
(1) H,0 ) T,0
(3) D,O 4) H;0

77  Which is called as milk of magnesium ?
(1) Mg(OH), (2) MgO
(3) MgCl (4) None
g W AW @ qU wEd ¥ 7 |
(1) Mg(OH), (2) MgO
() MgCl (4) =g &

78 Chemically water is
(1) a peroxide (2) a oxide
(3) a hydroxide (4) None
TEENE T Y S B §
(1) @ TwEEs 2) T SHEEES
() W TEREEEs @ @ &

278 A] 18 {Contd...
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79

The optimum distance to see the far object is

() 25 cm : (2) 25 meter

(3) 6 meter ' (4) 16 meter

(1) 25 9.4 L (2) 257

o @ 16

80 The function of dynamo is |

(1) Conversion of mechanical energy into electric energy

(2} To convert AC into DC

(3) "~ -Storage of electnc;ty

{(4) None

SR B/R ¥

(1) wifBrs &Het @l ﬁrgﬁ W SO CIGE |

(2) AC & DC ¥ Fa@

(3) Taga AUSRU HE

(4) w3 7
81 “CaOCl,” s called as

(1) Bleaching powder (2) Baking powder

(3) Caustic soda (4} Red oxide

“CaOCl,” wewm

(1) =T gesy (2) afdFT ey

(3) wike®d wel (4) ® JEe
82 Which is used in vision defects ?

(1) Lences (2) Mirror

(3) Prism (4) None

3he Ry Framo § few w1 SR e s %7

(1) o=t @& (2) Tdo @1

¢) foon @ @ = &
83 The gas filled in the electric bulb is

A-0, B-CO, C-Argon, D-N,

(1) Aand B Z) only B

(3) CorD _ (4) None

forge o ¥ w0 wHaw fw ¥

A -0, B-CO,C-ard D-N,

() ATIB | (2) %« B

G CcaD (4) =g &
84 Amount of CSF in human brain

(1) 500 mi {2) 150 mt

(3) 1000 ml 4) 1.5 ml

qy wikass H CSF @t A=

(1) 500 mi (2) 150 ml

(3) 1000 ml 4 15 ml
278 Al ' 19
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85

87

88

Chemical formula of cinnabar s

Following is a group of ert gases
(1) Helium, Hydrogen and Neon  (2)
(3) 0, CO, and H, (4)
fPrfofea & ofer = @ o %
(1) dfwaa, sEgem am feiw (2)

1y H,5 o (2) Hgs
(3)  PBS ' _ (4) Fe§
Ry W TraraeE %1:’ o
(1} - HyS . (@) HsS
3y bS ' _ . (4) FeS _
Cine’ of the f'ollowmg s a h‘*ﬂ“dlt&fy dlsease
{1} ul“"i\.le cell” anaemia _ {2) Cholera
3) o K (4) Malana
ﬁﬁiﬁﬁhﬁ i‘r U m@-clféﬁ GU -
(1) FRrewda gt e (2) &
3y =" - (4) TetEn
The chromosome p'roviding male characters
(1) X - chromosome (2) 227d chromosome
(3) Y - chromosome (4) 215t chromosome
T F AW Y g S ¥
(1 X - yomd (2) 223 TegA
G) Y- uEd | @) 21a TR

Redon, Helium and Argon

Crypton, CO, and CO

TH, dfwed T a@re
Crypton, CO, wg CO

TB
Cancer

& A

double stranded RNA
double stranded DNA

fiE RNA 9
2 DNA &

(3) 0y CO, W H, (4)
89 DOTS programme concerns with which disease ?
(1) AIDS (2)
(3) Polio 4
DOTS W & aay few 1 9 & 7
() vus™ 2
(3) wfway (4)
98¢ pH of water solution of HCI will be
(1 12 2)
3y 8 “
HCl % woa faeaT &t pH g :
(1 12 2
B) 8 4)
91 Human chromosome i1s made up of
(1) single stranded RNA - {(2)
(3) single stranded DNA 4
I TR I A ¥
(1) uHgE RNA & )
(3) THEA DNA & @)
278 Al - 20
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Which of the following is a correct statemeni

9%
-~ (Ay Wavelength of violer colﬁur is minimum ANt TIRONEnTT 1 viediman:
(B} Waveiength of red colour is macmuin and
() (A) and (B) : _ ;R
- {3) Only (B) o _ {4} - None
Pl 4 v w3 | -
(A) TR w e Y wn uw iRy wm e A b -
B) W T W TR afamen wur engh ema S ‘ |
(1) (A) md (B) (@) ()
(3)° s, B} o @y SEANE
93 Which is ca]led as primary source of energy
(1) Lipid (23 Ca.l bohydrate
(3) Protein (43 Viamin
fowmr wwl &1 wules 9w ey ¥ 7
(1) =& (2) wEEEET
(3) W (4) PRredfE
{ 94 Layer of eye which is photosensitive
=" (1) Sclerotic (2) Choroid
(3) Retina (4) None
T URT S OWRIT % U wdeste oy 2
(1) 3% w=e& (2) =% e
3) e wew (4) ®iy &
95 The device which converts AC into DC
(1) Transformer _ (2) Dynamo
(3} Rectifier (4) None
v ur wm Reaw § oRaRE w9 o s &
(1) ZFEGRER ) s
(3) Tl (4) @WE T
96  Acid rain is caused by
(1) 0, and CO, (2) NO, and SO,
(3) O, and CFC (4) N0 and CH,
W el @ R ¥
(1) 0, T Co, 2) NO, w§ SO,
(3) 0, wd CFC (4) N,0 wd CH,
”; 95 _. Typhoid fever is caused by
L (1) Escherichia (2) Salmonelia
(3) Mycobacterium (4) Giardia
TATHEE T F BRI 2
(1) uwRRfm (2) e
(3) EHER T (4) Toriéar
278 Al 21 [Contd...
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98 = Metal. which is used in -the formatlon of haemoglobm

() Fe _ 2y Cu .

(3) Hg .. - (4 Mg

g e S %quﬁ'r‘r&ﬁ % Tt % & ¥

(1) Fe . @ Cu

@ H @ Mg
99  Which of the. followmg 1% a primary consumer. 9 _

(1) Carnivore L {2) Herbivore -

- (3) Producer 4y  None

Preafafgs & @ & snezr&@ sasiia & 7

(1) wigeTd (2) SRy

(3) SUEH @ &g &

100 Correct statement for salt is
(A) Tt is a electrolyte compound.
(B) It has positive and- negative ions.
(C) Sodium chloride is a salt.
(1) Only (A) (2) Only (A) and (B)
() (A), (B) and (C) (4) Only (B) and (C)
wau &% o wg wa ¥
(A) Tz omfs @fts 3§ )
(B) THH WA AT ®UEE Bid & |
(C) wifeam wRES T @0 ¢ |

(1) &I (A) (2) %I (A) & (B)
Mﬂf(ﬂm®®© @ %@ (B) T (C)
s 01} Number of chromosomes in human Lumme"

%&?g%wé (mM
3) 23 4) 22
g ar AR ¥ RET A e ®
; (1) 46 (2) 44
(3) 23 4 22
102 Metal used in electromagnets

(1) Nickle | (2) Zinc

(3) Soft won {(4) Bronze

frgg gwl § w9 oW AW wig |

(1) Trba 2) m

(3) ™ wE (4) i

103 Vector host of maleria is

(1) Female culex mosquito (2) Male Anopheles mosquito

(3) Male Aedes mosquito (4) None of the above

TG @1 9re® q99E §

(1) ¥&1 wEad 7w (2) T QAT ST

(3) T whe AwX 4) ST A B T

278 A] | 22 [Contd...
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104 Following is an example of emulsion
(A) Mixing of oil in water
(B) . Mixing of water in oil :
(1) Both (A) and (B) ' (2) Only (A)
(3). Only (B) : (4) None
Prifae & www & Sseer ¥
(A) & @ W@ § e
(1) (A @ (B) <+ (@) %AW (A)

(3) W (B) . - (4 +% T
105 Pencil lead i1s made ﬁp of

(1) Graphite ' (2) Lamp black

(3) HgO (4) PbO

I o1 o @ B d

(1) Uege 2) FEE

(3) HgO (@) PbO

106 How mauy pairs of characters of pea were chosen by Mendel for his
experiment ?

(1 5 @ 7
3) 9 @ 3
ﬁw%mm%%ﬁw%ﬁﬁ%aﬁéawﬁmwﬁm?
1 s 2 7
3y 9 4 3

Hunger and thirst centres are found in which part of the brain ?
(1) Medulla - (2) Optic lobes
(3) Cerebellum (4) Hypothalamus
E 9 O b B ARaes F 6 9w ¥ 9 oW ¥ ?
(1) daga (2) % urierEd
() srgrRass 4) wEwdemy

108 Bacterial infectious disease which is caused by sexual contact
(A) AIDS

(B) Syphillis
(C) Gonorrhoea ' '
(1) (A) and (B) (2) (B) and (C)

(B) (A) and (C) (4} (A), (B) and (C)
SRR W dwme U Rreel dwee dte Ts ¥ da @
(A) wsH
(B) Sugst
€) gTH |
(1 (A) @ B) (2) B) T (C)
G) W © @ (A), B) T (©)
278 A] 23 - [Contd...
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A3 Human eye conlains”
T (b Bleongpes e
(3) . Bicoivex

Cir o Baconcave s

TTism

() fromew wen 2y Brore @
3y T ey fewm

310 Mogocsiun s used i3 =
(1) ~Formation of chicrophyll . {23y Formation of Melanm.
(3) Formation of rhedopsin {4} None of the above -
i w wuir S 3 N ‘ R
(1) s & Poda o (2y qefw % Pl

(3) =ifgw & Fmie # (4) »HE

1i1 Not a character of malaria ferer

- (1) Chill (2 High fever
{3) Profuse Sweating, A Paralysis
T AT B AHI el ¥
(1) @ wwEn (2) I F@rC
(3) ol g€ (4) wE

112 Statement - (A) :In an electric circuit, the fuse wire should always be

connected in the phase wire.

Statement - (B) :Fuse wire should be made up of material which has low
melting point.

(1) DBoth the statements are wrong

{2) Both the statements are right |

(3) Statement - (A) is right and Statement - (B) is wrong

{(4) Statement - (A} is wrong and Statement - (B) is right.

we - (A) - Faga ofwe § vger ar wd9 b oan F 9 € efeg

HUT - (B) : wgel ax 0F qarel o ) o wilvn Rryer weeie o

(1) =AY % TEd @ '

(2) o wuT @ ¥

(3) WUA - (A) E ¥ TUT HUA - (B) Td &

(4) AT - (A) TAd T T FAT - (B) W %

113 Lac is a/an

(1) animal product ' (2) plant product
(3) fungal product (4) a type of larva
@ A ¥
(1) wg s9E _ (2) URY IdR
() waw IAR @) TH v w0 el
278 Aj ' 24 . [Contd...
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Poied Jtren owsed momaleria con?_rdi in -0 /
AT E‘“‘*‘”;j_g T P T -
(5B} Rohi. i
(C)y  Trour.
{1y {A) and (BY _ (% (n and (O)
S 3) fA) and U : (i LAY (B and (&
Tl R Uogudil wed B o |
() frgfn
B) %
© e |
1) (W E®) | (@) @ @ (©
Gy (AT O (@ (A B 9E (©)
1t5 One of the following is a tie fruit
{1} Banana (2)  Apple
(3) Fear {4y Wor-
Prafafes § ¥ % amitym wa ¥
(1) e (2) s
(3) eTaTEr 4) wrE W
7116 Apis indica is a
{1) Silkk worm (2) Lac insect
(3) Pearl oyster ; T4Y, Honey bee
(1) g™ & @ (2) W & BT
(3) W Sy (4) gl
117 Which one is called as factory of manure ?
(1) Buftallo (2) Earthworm
(3) Rat (4) TMone.
g @ WiHlie @g @ GRQET Fed ©
(1 H @) Fgan
(3) & (4) g T
118 One of the following is not a metal
(i) Iromn (2) Copper
(3) Sulphur (4) Zinc
Prefafas & @ wr ug =&
(1) @& (2) =
(3) "L @) T
278 A] 25 [Contd...
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115 ‘A person has 44 + XO chromosomes, it is

- (1) Turner's syndrome _ {2y Down's syndrome
(3) Jacob's syndrome .~ {4 Mongolian idiot
qgmﬁ44+x0wmﬁwﬁ% @y
(l)z:hamﬁ@q ) @) sEow Rgm
N €)) ﬁwmm@n_ ! @ mﬁi%mwg@
'i2!}_'_ feart s obtained 'fr_om B o S
.o (1) Mines _' (2) - Arthropod "animal
(3) Cincona tree. (#)» Mollusca animal
o & W fEn smar ¥ | |
(1) @& 9 (2) ey ST g
(3) T g& & (4) T g 8

12y Correct statement for adrenal gland is
- ¥1; It is called as 4 S gland.
(2) Tt seeretes thyroxine.
(3) It is situated in the throat.
(4) All the above.

wrw vhy % fou o wua ®

(1) 3Has 4 S Ufg Hed §

(2) uE URNREA B TE W § |
3 98 ™ W fem wlH ¥

(4) Sudew gl

122 One of the following is a complete fruit
(1) Guava (2) Potato
{3) Radish {4) Carrot
Prfefes & e oof v %
(1) owes {2y e
G) (4)

123 Correct statement for rust
(1) 1t is ferric oxide.
(2) It appears in non-metals.
(3) It is an example of hydrolysis.
(4) None

w1 % fou o wuT ®

(1) 9% %fw sifwwgs ¥ o

() F& JAugsH § W ¥ |

(3) UE SWE UHST H SEEl § |
(@) ®g T
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124 -Salient feature of human brain is

Y Two optic lobes - _ (2) Corpus _!u_t'euin
La) Corpus callosum *© - (4) Al the above
B e | R
(1) @ 3% ot ' (2) wrde wgdam
(3) onw ¥ @) S wl
125 A disease of 51lk worm :
e . (1) Anthrax ' (2) Pebrin
4 (3) Dengue - (4) None
W F A B OTH AT | -
() wHem - () U=
3) 3Ig @) @ T
126 ‘Disease spreaded by mosquito
(A) Maiaria
(B) Yellow fever
(C) Cancer
(1) '(A) and (C) " (2) (B) and (C)
.3 (A) and (B) @) (A), (B) and (C)
AT ¥ Ha amn Qv R
(A) walar
B) dasrr
© HwWw |
(1) (A) W@ (O @ (B)w (C)
() (A T ®B) 4 (A), B) wd (C)
127 One of the following is a metal alloy
(1) German Silver (2) Copper
(3) Aluminium (4) Nickel
frivie & & o fsr ag %
(1) v fyex (2) =
(3) ughitEw 4y T

£ 128 ; If mother is colourblind and father is normal, how many sons will be
' colourblind ?

(1) 25% 2) 50%
3) 75% 4) 100%
wawhamﬁmmw@ra’r%nﬁrmaﬁﬁaﬁmﬁmmﬂﬂ
M ?
1O 25% ) 50%
Gy 75% (4) 100%
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129 The alloy of iron, nickel and chromium is called as

- (1) German sitver (2)  Stainless steel
- (3) Bronze (4) Durelium
ﬁmm%ﬁfrlammﬁ{mmfﬁam%-'_
(1) - ﬁmar _: S 'BE W
ONE e OF T{F‘m
150 Which is called a8 fion-functional third eye' ? o
' -'.7\"-‘ - (1) Pineal body# __ . (2). Pituitary
(3) Thymus - - (4)  Optic lobes
fruer afpani® dwu A3 wed % ? -
(1) Trma =@ ) T afg
(3) uEHd (4) gTw i
131 Cantheridine is obtained from
(1) Apis (2) Wasp
(3) Blister beetle (4) Bombyx
FOmERE =y fem ST ¥ | -
(1) ity 2) =
(3) Ty e (4) difgw

132 Correct statement for non-metals is
(1) They are without free electrons.
(2) They can be used to make sheet and wire.
(3) Both (1) and (2)
(4) None
aygst & g 99w §
(1) o =R gReE T RN ¥ |
(2) T TEY T aX R o §Hd § |
(3) (D) T (2) IH

4y &g E
133 DPT vaccine is used for
(A) Tetanus (B) Whooping cough
(C) Diphtheria (D) TB
(E) Polio
(1) (A), (©) and (E) (2} (A), (B) and (C)
(3) (B), (D) and (E) (4) (C), (D) and (E)
DPT w1 el &R ol &
(A) ugvam ®) FFER
(C) T §ER (D) & AT
(E) uiiear | _
(1) (A), (C) @ (E) (2) (A), (B) wd (C)
(3) (B), D) W (E) @) (C), D) T (E)
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i\lM(}Wnch is called as blOlObl(.al clock ?

( 1} Thymus E {2) - Pineal bodyy-
) ’-vaothal?mus {4} Pituttary

(1) a0 @ fifaw wm
Gy mcﬁ@réw | @) g wry

f 135 Whlch pdrt of the human eye. can be transplanted 7
(1) Whole eye ' (2) Retina
(3) Comea (4) Conjunciive -
Wh%mwmmw%% 7
) sl I 2) Y
(3) @ | 4)  wwlie B

136 Electrolysis is used in
(1) Electroplating (2) Plastic formation
(3) Catalic converter (4) None
g swues &1 SuEe € ¥
(1) Togawer & ! (2) s Famr F
() Wwefww @y § (4 g T
137 Source of energy in biosphere is

(h)y Air (2) Plants
(3) Sun light (4) Moon light
WT Hew ¥ el w1 6 3
(1) =g (2) uru
3) gt = gww (4) T B YA

138 Energy pyramid is

(1) Always invested (2) Always upright
(3) Both inverted and upright (4) None
Fet w frafes B 3
(1) &0 §eex (2) shmW qen
(3) T dE Gur <N (4) HE =
139 One of the following is not a plastic
(1) Vinyle (2) Celluloid
(3) Rubber (4) Bakelite
Featafes § wo wifes @& &
(1) frge (2) GgETS
(3) @ (4) S%wEE
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() difee TS (2) |
(3} a’r%warrsaﬂaﬁz @) Wftan wiREE
[141 #Image forms in human eye is - ' o -
Yy e et (Y Realand cinverted @ Apparent and. iverted -
PR (3) Real and upnght (4) - Apparent and upright - -
A agE W ¥ ag w wRles wwr ¥ o
S (1) Traias a7 Seet 2) el g 3w
Ve () orafam @ e (4) ot gar den
142 Called as dry ice
(1) Liquid Nitrogen (2) Liqud CO,
(3) Solid Nitrogen (4) Solid CO,
I B9 wEawl ¥
(1) T T () 9@ CO,
(3) 9 I @ 3\ CO,
143 Proof spirtt is
(1) 100% Ethyl alcohol (2) 90% Ethyl alcohol
(3) 49.28% Ethyl alcohol (4) 25% Ethyl alcohol
o5 fafe g 3
(1) 100% 3@ gwned (2) 90% zRaw uemiEd
(3) 49.28% 3P UwpEd (4) 25% sfhe wwhEd
144 Calcium hydroxide is called as.
(1) Slaked lime (2) Quick lime
(3) Blue vitriole (4) None
ST TESIARS HEAET ©
1) g gm (2) TeTgEn T
(3) HArer 4) =% T
145 Correct statement regarding car battery
(1) Normally, it is of 12 V.
(2) It's electrodes are made up of lead and iron.
'(3) Both (1) and (2) .
(4) None
PR IO & g9y A w8 BT ¥
(1) sua deedl gpFEEr 12 V Rt ¥
() 7% Wadey du g W ¥ X W ¥
G) @ ) ¥R Q)
@ & &
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One of‘ th.e follou}ing is called as caustic soda

(1) Sodium hydroxide

"~ (3) Sodium bicarbonate

ﬁaﬁf@aﬁawﬁma@m%

)
4)

Sodium carbonate
Sodium chloride -

" R
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In “pregnancy test” presence of which hormone is iested in the urine ?
(1) ADH . (2) HPL
(3) HCG . - © {4)  Oxytocin o
b gl ¥ g ¥ few ST @ ouReRy @ ol R
Be | ERT -

C 1y TADH _ : (2) HPL
(3) HCG | (4) afiereIiaw

147 Sodium biéarbonaté; is called as _ .
(1) Washing soda ' (2) Baking soda
(3y Caustic soda {4) None
iam TREENT B BEd ¥
(1) =R wrst (2) 3HT e
(3) wikew el 4 w3 T

| 148 In myopia distinct image will be f'orxﬁed

(1) In front of retina (2) Behind retina
(3) No image is formed {4) None
faez gfte dw & axg & we afifs 3T
(1) & & am () Yem & dw
(3) wiafew & o ¥ @ &3 T

149 In which eye disease “plus lenses” are used ?
(1) Myopia (2) Aestigmatism
(3) Hypermetropia (4) Cataract
o W W e Rew A W ¥ fean o ¥ 7
(1) Pz ghe @ gfe dwm
(3) X e v (4) WifenfEe

1530 Hormone providing male characters
(1) Estrogen (2) Progesterone
(3) Androgen (4) Prolactin
T % qE Y A FHA ¥
(1) == | (2) W
() TFEA (4) vl
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